



Substitute eqn (2) into (1) and eqn (3)

$$\frac{dz}{dy} - \frac{2z}{x} = -2$$

$$\therefore P = -\frac{2}{x}$$

$$Q = -2$$

$$\int P dx = -2 \ln x$$

$$IF = e^{-2 \ln x} = x^{-2}$$

$$Z \cdot IF = \int Q \cdot IF dx$$

$$Z \cdot x^{-2} = \int -2x^{-2} dx$$

$$= -2 \int x^{-2} dx$$

$$= \frac{2x^{-1}}{-1} + C$$

$$Z \cdot x^{-2} = 2x^{-1} + C$$

$$Z = \frac{2x^{-1}}{x^{-2}} + \frac{C}{x^{-2}}$$

$$Z = 2x + Cx^2$$

$$Z = y^{-2}$$

$$y^{-2} = 2 + Cx^2$$

e)  $x^2 \frac{dy}{dx} = x^3 \sin^3 x + 4$

$$\frac{dy}{dx} = x \sin^3 x + \frac{4}{x^2}$$

$$\int \frac{dy}{dx} = \int x \sin^3 x + \int 4x^{-2}$$

$$= \frac{1}{3} \cos 3x + \sin \frac{3x}{3} - 4x^{-1}$$

f)  $(x^3 + xy^2) \frac{dy}{dx} = 2y^3$

$$y = vx$$

$$\frac{dy}{dx} = v + x \frac{dv}{dx}$$

$$v + x \frac{dv}{dx} = \frac{2(vx)^3}{x^3} + v^2 x^3$$

$$v + x \frac{dv}{dx} = 2v^3 + v^2 x^3$$

$$v + x \frac{dv}{dx} = \frac{x^3(2v^3)}{x^3(1+v^2)}$$

$$x \frac{dv}{dx} = \frac{2v^3}{1+v^2} - v$$

$$= \frac{2v^3 - v(1+v^2)}{1+v^2}$$

$$x \frac{dv}{dx} = \frac{v^3 - v}{1+v^2}$$